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COMMERCE

(Honours Generic)

Answer the Questions from any one Option.

OPTION-A
Paper : COM-HG-3016
( Business Statistics)

OPTION-B
Paper : COM-HG-3026

( Operations Research in Business)

Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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OPTION-A
Pe;;::er : COM-HG-3016
e S :stt.tsmess Statistics )
ton Nos. 1, 2, 3 and any four

o Jrom the rest.
» 3 R 2T TeT ey o 30 YN
1 Rieplzr sifasrg Soq s L
. A, Ch
oose the correct answer :
% Beq e =t o i

(i) Whi
i ich of the deciles are les
€ lst quartile ? T

(T G201 A <le Sgefenets o
(@) D and D, J
D, @I D,
(b) D, and D,
D> 9I% D,
(c) D, o énd D,
Dy, D, 9% Ds
(d) None of the above
LR R -
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(ii) Rank correlation is preferred if the
nature of the data is

mﬁmﬁexmﬁaw\fwﬁmﬂ
iz U TS

(a) quantitative data
RIS O
(b) qualitative data
RRIVISACR
(c) Both (a) and (b)
(a) S (b) TR
(d) None of the above
@5[eq oIS A

th regression coefficients cannot

(iii) Bo
be

ol T @i A (RIS

(a) greater than on€

GFOE BIeT

smaller than one

GFOLT TF

(c) equal to one

G A

None of the above

G o8 T

(b)

(d)

Contd.
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T !
(iv) An index Number ;
is a - : : -
G| TohlcE ; a : C. Write True or False : 1x2=2
: wm (] SuE fordl ¢

(@)  speci
Pecial type
& P ﬁ;f average (i) Foran open-end distribution mean
(b) me : cannot be determined.
asur ,
el 5 ¢ of relative changes T AT SRS I I TG fefa
() perc T alull
ent d
- age relative (ii) For a qumber of positive values
AR g, TR LA A T
N\

(d) Al :
of the abovye AM > GM > HM

Solgg W:BE
D. Write down the approximate relation
d mode of a

B. Fill in
t
AT iz fie blanks ; between mean, median an
Pt 1x3=3 moderately skewed distribution. 1
seSmiReE s A6 o, T T TLTFS
e < o ! Frl

) éf,-(x,--fp e

(@) S.D. is i
- 18 Independent of change of o. Answer the following questions : 2x5=10
; 0
T Risem oo 2R Ted fer 8
- g ﬂ’%ﬁw’
ﬁ@ﬂ!ﬁa 3 g
i) ¢ N | a (@) Mention the various measures of
A is an event, then dispersion.
e SPA) 2 Ry fom TR S T
WA G o |
NACIA) (b) What do you mean by Kurtosis ?
T o P % < g
(Sem-3/CBCS) BST/0Ra — T @ @
01/2/0 4
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(¢) Find E(X) for the following probability
distribution of X ;

3l 8
X, %0 1.2 3
L 3439
P8888

coefficient.
TR SN 7ty 3 By 7y |

(e) What is level of significance

IO W fr o
3. Answer any four of the following questions :

5x4=00
SR Ricezat sifasy 2 B gy ¢

(@ Write down any five €ssentig]

characteristics of an ideg] measure of
centra] tendency,

;ﬁw%%m%%m%ﬁ%
2
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e

P(4)-5P(B) and P(B)=3P(C);

d P(C).
d P(4), P(B) an ‘5 T
z;A g s C i s fafere

&

i ot 7 S P(A)=5P(B)

P(B)=3P(C), (o2 P(A), P(B) &%
3

p(c) Ffa =1

(@)

(e)

G
4 (Sem-3/CBCS) BST/ORB HC 1/2/

. A

ical expectation.

. thematica Jlowing

DefglernN\Irif.lable X has the io 24+3=5
rando

obability distribution :
pr

oy Akl L D1 AR B
?;fiﬁ_}:@ii%\ol 3%+ OO el PR

o

* | ol gl 3 R |
6% b
;E‘fl)E(X;3 and var(X). l
E (X) 9% var (X) fef =1 _—
of a binomial d:IStI.‘lbu 1105
s rIilejllnstandarcﬁl deviation
éé(a)\lc?ﬂatc n, p and g.
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4. (a)
Calcu

for thiai*zline&fn and standard devias:

. +4=7

@a@1%§ra%aﬁﬁaanaswmwwmsnma
oo

el w1 ¢
Profit (Rs. in lakh)
i c20-30 30-40 40-50 30-60 b
' (-
No. ni Companies ~ :  3) 70
(SIS 34 " ! ’
I 112
Profit (Rf' mlky) 7080
e 80-90 9100
No. o{ companies Co 112
(@R 7] 57 2
(b) Distinguj
n
measﬁulsh between absol
i, s of dispersion "G Fee
21N '
fvga WRﬁﬁ@ﬁﬂWﬁ=m§aam®Wﬁvﬁmi

# (Sem-3/CBCS) BST/ORBHG 1/3/6 g

T o

tion

do you mean by correla
es? Mention the

(@ What
2+2=4

between two yariabl
different types of correlation.
ﬁ?ﬂﬁvmﬁaimﬁavmﬁﬁﬁ:ﬁ%Uﬂﬁﬁapﬂ?ﬁﬁ@ﬂ
ﬁ$ﬁ37ﬁﬂﬂﬁﬂ§iﬁkﬁﬂ?ﬁﬂl

data are about sales and

(b) The following
t expenditures of a firm :

advertisemen
vﬁﬁ<3qPﬁgzaﬂazﬁﬁaﬁm§1q?nvmasﬁmmﬁa

75 TR ¢

Adv. Exp. (Rs. in crores)

Sales (Rs. in crores)
e 7 (b ) Rt 7 (i Tor0)
Mean 45 6
g
Standard deviation 12 35
e o
ent r=09

The correlation coeffici

TR aiE r=09
(i) Estimate the likely sales for the
advertisement

proposed
expenditure of Rs. 10 crores.

ﬁ@mma@ﬁ@ 10 IS T FACACF
iy R e Pl =
Contd.
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at Vi

target
of 60 crores of ripees ?
€Es

3+3=6

ﬁ@?{:@ ﬁ&[
&p
il Wgﬂ]wq?

6
: (a) Fit E
a llne
square toazhtrend by the met
s Foy ¢ following Por v od of least
: eri

o qﬁwcﬁ wey es data

Year R @R © N ot e 3o
S wistem <51 ¢

T 9 4

60 IS 5t 73,

ive Law of Probability
e events and
2+4=6

State the Addit
for two mutually exclusiv
explain it with an example.

e RIS £+ w5 AW ASIROR it

7 ORERY (¢}

a man can make a profit
of Rs. 2,00,000 with a probability of
0-4 or have 2 loss of Rs. 1,00,000 with
a probability of 0-6. What is his
profit ? 4

() Ina business,

expected
qee TR 9Bt TFEO 0-4 BTSN
2,00,000 S ered 23 A 3l 06
aoﬁﬁﬁmma1;xxoooﬁaior$aaaﬁavmal

8. (o) What is Poisson probability
distribution ? Mention the properties of
2+4=6

this distribution.

vmsavmmﬁﬁia%af%?~¢Eaﬁﬂaaﬁrﬁaﬁnaﬂ

4l

(b) The probability that the student of a

night college will be a graduate is 0-4.
Find the probability that one student
out of 5 will be a graduate. 4
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mﬂ?‘ﬁvmﬁ}]
waﬁia(}4aﬁﬁﬁmmﬁ T B o 2N
(REIS TBifrey > T R fowrs e

9. (a
A probl
e
m of statisticg is giv
en to five

StU.dentS
I.espectiveA, B, C, D and E :
Ch&nCeS (PTObab-i- Their

11ty) Of

solvi :
ving it are L 11 1 1
respective 2°3°4’>4 and ¢
Y. What is the prob °
robability

that at |
cast on
the problem ? € of the Students sol
. ve
6

(b} What is an i

# Sem-3/CBCS) BST/ORBHG 172/ 1
2

10. (a) W

es? Give an example
hat are the different

ime series ?

hat is time serl

of time series. W

components of t
g FRAETE 51 Gl T |
B 2

the index

1+1+2=4

sy #jdet 2
m‘j‘{ﬂﬂﬁﬁﬁﬁi

The following table gives
numbers for different groups of items
with their respective weights for the
2005 (base year = 2000) :

(b)

year
<o e 2005 e A (e = 2000
o) R T (15 T E OFTR
ol SR 8
Group Group Index No. Group Weight
(o (AHa T QIERSE
Food (W12) 525 40
Clothing (A=) 325 16
Fuel (Z&) 240 15
Rent (T ©R) 180 20
Other (SFOFD) 200 9
Calculate the overall cost of living index
number. Interpret the result. 5+1=6
Contd.
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%mﬂﬂmmwmmﬁww'
TS A1} T |

11. (a)

What is test of
various ste

significance.

significance ? Discuss
PS associated with test of

5
Wmﬂ?ﬁﬁﬁﬁ?m

WWWW

(b)

I *IF1 w1ors TS
el

What is samplin

g distributiop ? Explain
its importance,

e o5 75 R p

4 (Sem-3/CBCS) BST/ORB HG 1/2/0
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2+3=5
mﬁmr@ﬁmanﬂnmr

OPTION-B o
Paper COM”HG—?)0

usiness)
ions Research in a
tio
(Opera

: irected : _
¢ the following 28 AFECEE 701
1. Answe

e e Al 8
TRIIGISE S
boECALE

)
(@) What is LPP '9
arritel S e
(b) Define PERTﬁm
PERT T & lution ?
¢ is feasible SO
(c) ‘;’;:q SR A 2
) .
Define conveX i l
et 1 7@

m involving
Ogrammil’lg prOblebe Solved by
Linear PF2® °  riables can | plank)
(e) o decision V& (Fill in the
tw
T

W@T@@Wtﬁﬁﬁmﬁamﬁ
! P

(d)

Aied @l |
e TS A om 57 97 # )
0Q. :
Define & el
0 @iﬁﬂﬁ""ﬁ & AR Contd.
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(9) What is obj
at is objective function ?

TS o A &9

(h)  Whi
. ich of the following
with LPP ? S not associated

R
O (IO Gifaifrg IS Sfs
% 727 e

(a) Proportionality

MRIBGIIERO)
(b) Uncertainty
RIERHE)
(c) Additivity
RIRIEAY)
(d) Divisibility
Rrererer
(Choose the Correct opt;
' | (&% Cewrhy ﬁvﬂ; tgj
(i)  Write one objective of Invento )
w@ bl e @m ]%R“l;y Control.

() What is “float’?
CPTIN AT e e

4 (Sem-3/CBCS) BST/ORBHG 1/2/G 16

2.

7x5=10

r the following in short :

o ¢

Answe

G SALRIGIES 53 T

fagical sifAo e f
tical formulation o
g he M thema
() Write t
LPP.
e e T foral
Contd.
JORB HG 1J2/G
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(b) Wri
ite the
procedure of Simp]
plex method

ot MG e

pro‘;ia%;ap.hically the I
mlng problem li’Il.lePar
PY.

LPP (1
(1Y 2imfog
\9
1 X,

)

3x1+2x2$18
X +x,<9
X <4

2%, <6

X1 X, 20

(d) Wh
at are the com
pOnent

prOgramm.
brief. Mg mode] ?

@R
2 TR T St
S e o

S z
Explaij of linear
Plain them j

n

(e) Explai
21‘;:5 PRS- The EOO
R con
& cept.
ﬂﬁm‘f Wam:‘m : P
G WA =
|

4 (Sem-3/CBCS) BST/ORBHG 1/2/6 18

ponents of inve

at are the com

Wh
cost ? Write priefly-
Zacoval 109 SR fro LS TR
il

10x4=40

four questions g
Teg Tl 8
la for the

" 120 Contd.
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(¢) (i) With the help of suitable sketches,

€ @ Wb f
define convex ang non-convex set. problems
5 3
. EOQ
O R B v gy i ST
&9 k@t i (i) Machin®
. 'n coO
(i) What are the factors affecting operat! gr &
- inventory contro] 7 5 flest: YER
RACS s O Colranay JITZ Rs. 2
o e

th
(d) (i) Explain the difference between replac®
Basic feasible solutiog and hat W!
Degenerate basic feasible solution, of owsi®
5 maChine'

cﬁ%ﬂ@@vﬁwmmﬁm@t

WWWWWWW%}WW
<
|

(i) With the help of of an eéxample,
explain ABC analysis. How isg it
different from VED analysis, 5

! SRR TERe ABC R iy W&»@
S VED Resio =191 8 (s sjip 2

4 (Sem-3/CBCS) BST/ORBHG 1/2/G 20
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Activity

"xutlzt::ntubm

4 (Sem-3/CBCS) BST/ORBHG 1/2/6 2

(g) Write notes o

The foIIowing are t
e : he details of Bt e 2
esn.rnated times of aCtivitieg of a certain fert ith replenishment
project : () EOQW o5 TS EOQ
e 7 k
TS TR <1 7% e PR i b ingy Netwot 2
of us 5
TR R o o i [ Goven o -
. Techn ad NS YA
Normal time (days) Immediat, Predecessor o6 (PP TS
Mt o () DI o
o T
20
: A
10 4
6 B, C
12 D E {
(i) Dre%w the network and fing g, |
Project completion time, 4
CTOTE ST 1 Wl iy T e
T e \
(i) Find the critical path, 4
GfosT AT el <
(iif) Find the tota] float of each activity,
2
AT Srfwertor 5w et
e 2000
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